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General Instructions:

(1)
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(iif)

(iv)

(v}

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section-A comprises of 8 questions of 1 mark each; Section-B comprises of 6 questions of 2
marks each; Section-C comprises of 10 questions of 3 marks each and Section-D comprises
of 10 questions of 4 marks each.

Question numbers 1 to 8 in Section-A are multiple choice questions where you are required
to select one correct option out of the given four.

There is no overall choice. However, internal choices have been provided in 1 question of
two marks, 3 questions of three marks each and Z questions of four marks each. You have to
attempt only one of the alternatives in ali such questions.

Use of calculator is not permitted.
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@|UZ-3 / SECTION-A
WY TEAT 1 9 8 H Ueke @y 1 37 §1 U UvT ¥ O famen fm mo §, R
Tk HE & St W fawen T

Question numbers 1 to § carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice.

¥ < e demsll &1 o ¥ - 1
(A) 209 U= iy HEm
(B)  =wm u% Wiy wen
(C) = o= s
(D) =it wfildy ot = ayofam g

The product of any two irrational numbers is :

(A)  always an irrational number.

(B)  always a rational number.

(©) alwaysan mteger.

(D) sometimes rational, sometimes irrational number.

& Y AT A 1
4) o ® 1 © 2 (D) Rk
The degree of a zero polynomial is :
A o B 1 5 2 (D)  not defined
A7 AR 224 9 5 H T G 1
. B, . -2 © ; ®© -1
One of the zeroes of the polynomial 2x2+9x—5 is :
1 1
(4) 2 @& -2 © = =
‘a/a2+b-—ab-aa'ﬁﬁ?%: 1
(A)  (a=1)(a-b) (B) (a+1)(a-b)
(C) (a=-1)(a+b) (D) (a+1)(a+h)
az+b-ah-aisequa1tu:
(4)  (a-1)(a-b) (B) (a+1)(a-b)
MO (a-1)(a+b) (D) (a+1)(a+b)
R AR T T O Sm— 1
: e > |
5
:{:_55 »m
(A) 50° (B) eo0° € 7 D) 130°

In the figure, if 1 | | m, then the value of x is :
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x
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(A 50 (B)  60° (o (D) 130°
T4 e 8 afz AB=CD 3t AD=BCE, 9 : 1
D B
E
C A
(A} AADC=AACB (B)  AACD=ACAB
(C) AABC=ADCA (D)  ADCA=AACB
In the figure, if AB=CD and AD=BC, then:
D B
C A
(A) AADC=z=AACB (B) AACD=ACAB
(C) AABC=ADCA (D) ADCA=AACB
g, ARx>0slRy<od, &g oy et 1
(A) I=gERE T (B) meEgalwH
(© megad (D) IV ggia §
If x>0 and y<0, then the point (x, y) lies in :
(4) Iguadrant (B) IIquadrant
(C) IIquadrant (D) IV quadrant
&7 T fiig T o v e € S wER € 1
(3) ¥ ® © 7TEfEg (@) =gata
The point at which the two co-ordinate axes meet is called the :
(A)  abscissa (B) ordinate (C) origin (D) quadrant

=us-a/ SECTION-B
Uy HEEr 9 ¥ 14 7 U & 2 37 §
Question numbers 9 to 14 carry 2 marks each.

LV{}Eaﬂmﬁqmpm#wﬁaﬂaaﬁmmﬁpﬁqwgmqmﬁl 2

Express 0.35 as a rational number in the form p/q ., where pand q are integers
and q#0.

\10-/ k% fFm v % g 9898 p(x) =23 — ka2 432+ 10, (x +2) & qola: fasnfera dm? 2
Fer what value of k is the polynomial p(x)=2x—kyZ+3x+10 exactly divisible
by (x+2)?
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TOFEYE HIFA : m(m—1)—n (n—-1). Z

Factorise : m (m—1)—n (n—1).

M fax#afk AB=CD &, @ fag #ifm s AC=BD ¥ 2

A B = D
In the figure, if AB=CD, then prove that AC=BD.

A B L D

\/K Wﬁlﬂi%ﬁwﬁﬁwi:é:ﬂﬂﬁlm@@ﬂWWWml 2

The angles of a triangle are in the ratio 2 : 4 : 3. Find the measure of the greatest
angle.

319@T/ OR
fe= 4 AB || DE, ZABC=140° 31K ZCDE=100° &, @ £#BCD 1d Hifeg |
D E

A B 100°

1407

C
In the figure, AB || DE, ZABC =14(° an% LCDE=100°. Find £BCD.

D
2 B 100°
140°
.
I(/Wﬁ‘jﬁﬂ-ﬁﬂﬁﬁ9cm,12cm3ﬁ115cm§immmml B

The sides of a triangle are 9 cm, 12 cm and 15 cm. Find its area.
wWue-H/ SECTION-C

T HEAT 15 24 H TR F 3 3 6

Question numbers 15 to 24 carry three marks each.

Mﬁ‘q’ﬁﬁq: J5+206 + Ja- 25, 3
Eva]uaheq'rﬁ + 246 + \;FB— 2.f15 .
21981/ OR

Wa=2+ 38 Wa+ — a2+ - @ FM
a

£

[fa=2+ f3, find the valueof a+ 1:aa'u:il a2+ :

a a

e xS PR i % -
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Rationalise the denominator of e

=B
\/ITT UFEYE I ; (x2—4x) (22 —4x—1)—20. 3
Factorise : (x2—4x) (x2—4x—1 j—20.
7|7/ OR

Find ﬂ1cva]ueuf33+ﬁ—‘£21y+6& frty=—4 “"'"'..-

JB/E:\TFEE{EFZ:‘E" 9:.2+x+12%5§vmav§;+1aﬂux €1 T PREE w5 E 3
Fifan |
Show that x+1 and 2r—3 are the factors of 217 - N2+x412. Also find the
remaining factor.

b

q{/ﬁﬂﬁAB[ICD,CDHEF%IﬂﬁEﬁLﬁEﬁT.ﬁBl-; S0°F, My zTaAaw 3

@ FHiaT |
Al Ct SeriE
D 50°
Bj’y JrF
In the figure AB || CD, CD || EF. If EA L ABand /T ' =50, find the values of x,
yand z.
rs s &
Ah 2 —=E
D 50°
¥ k4 L 3

31eET/ OR
3 § £DBC =ik LECB % wafgws #99: BO 5 0¥ aft sBAC=70° 2
ZABC=40°%, @ £BOC F0d Hife0 |

In the figure, BO and CO are bisectors of 2D «d ZECB respectively. If
ZBAC=70" and £ABC=4{" find the measure of 2
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,;9./ 3 T /BCD=/ADC 3 sACB=/BDA %1 Tug #isw & AD=BC &R 3

LA=2BRI
A B
£ 8]
In the figure ZBCD=/ADC and ZACB=/BDA. Prove that AD=BC and
Lh= B,
A B
C ]
¥ fag it fr i 91 T e wiede et € @ i B s e E) 3
Prove that if two lines intersect each other, then the vertically opposite angles are
equal.

ry/ﬁﬁﬁm}@qﬁ"ﬂﬁﬁl B 3R C & H9: AD 991 e 7§ AD T &4 BL 3R CM 3
o= e §1 fag wifee fF BL=CM 21

M
In the figure, AD is a median and BL, CM are perpendiculars drawn from B and
C respectively on AD and AD produced. Prove that BL. =CM.
A
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,za./ =1 3l Aﬂ=ac%.ﬁifaaaﬁmﬁszam=zacgﬁt 3
A

‘D B " EA
In the figure, it AB= AC, then prove that ZABD=ZACE.
Fas

T B c B
24, ﬁﬁlﬂﬁﬁhm?ﬂﬁﬁaﬂmﬁﬁﬁmw%lfﬁﬁﬂﬁﬁﬁﬁiﬂizﬁcm, 3
28 em 2K 30 cm & 2 A TG F AR 26 cm B, d TG TGS B SE
F1d it |
A triangle and a parallelogram have the same base and the same area. If the
sides of the triangle are 26 cm, 28 cm and 30 cm and the parallelogram stands on
the base 26 cm, find the height of the parallelogram.
@|uz-g / SECTION-D
Tv e 25 ¥ 34 H UedEh 4 3
Question numbers 25 to 34 carry four marks each.

MﬂﬁEFE‘ﬁ=aabq’§&?ﬁaﬁr{bma§rﬁm i

7— 43

5= 2B . b3, findaandb.

A

Fgar/ OR
JB =1 Tem Tt i el S
Represent /8 on the number line.
6. TIEI BT : 4

[51]341 5 25)_‘?‘5 _ [5]‘3

16 [ 9 L
Simplify :

ER GG

{a’gﬁu?*-— 2,244 2 223 —Sy+a F x—2 7 A A W ATHA F: p L q ¥ 4
afz p—2q =4, A a 1 TR DT -

|
The polynomials ax3— 3x2+4 and 2x7—5x+a when divi&a@ by x—2 leave the
remainders p and q respectively. If p—2q= 4, find the value of a.
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257 A x+y+z=1,xy+yz+2xr=—13Rayz= —1 8, @ 29+ + 23 ¥ FaQ | 4
Ifx+y+z=1ay+yz+zx=—1and ayz= —1, find the value ef.x'3+y3+:3.

29 i v few fo fog R 323 - 8x2 4 3x+2, 12— 3r+2 @ Toi: famf 4
BRI
Without actual division, prove that 3x3— 8x2+3v+2 is exactly divisible by
x2— 3x42.

L{ Fefafas fagsll +1 % X sieifaa Fifs 4
A(—2,5), B(4,3), C(0, =5), D(5, —4),E(—6,-2), FERO)MEBF -8 W
i s v fog E &1 -8 W odw wfafars fafae
Plot the following points in the graph:
A(—25), B4 3). C(0, =5), D(5 —4).E(—6, —2), F(3, 0). Also write the
mirror image of the point B in x - axis and the mirror image of the point E in
y - axis.

*{Mﬁcaﬁamﬁﬁt:,(:aaﬂtaﬁﬁrtwénaaﬁmzaw.zﬁAEaﬁ'ﬂzcst 4
Fo A T ¥ | g #ifae fF LACD + /BAE + ZCBF=360° 2|

The sides BC, CA and AB of AABC are produced in order forming exterior angles
£LACD, £BAE and £CBF. Show that ZACD + ZBAE+ ZCBF=360°.

Wﬁﬁmcuﬁmcmcn %1 afg AQ=BP 3R DP=CQ @, 4 fag =ifay & 4
ZDAQ=/CBP %!

A B

D P Q C

In figure ADICD and CBICD. If AQ=BP and DP=CQ, prove that
£ZDAQ=ZCBP.

A B

55 Qo

37e@T/ OR
a5 § AC=BC, ZDCA = ZECB 3R /DBC=<EAC ¥1 fag Fifsu f& ADBC 3ir

AEAC Haimay ¥ it safee DC=EC iR BD=AE %I
D E

A C B
In the figure, AC=BC, ZDCA=/ECB and ZDBC=/EAC. Prove that the
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triangles DBC and EAC are congruent and hence DC=EC and BD=AE.
D E

A E B

S Fug AR s QP o % ¥ 3 B 35 A 3 IR S G
wﬁwmammmmmﬁm@

Prove that two triangles are congruent if two angles and the included side of one
triangle are equal to twa angles and the included side of other triangle.

34. aﬁmfﬁﬁfﬁﬁﬂaﬁaﬁ\ﬁqﬁaﬁimw ﬁgﬁﬁﬁwﬁ%ﬂmﬁﬁ
=7 B €
Show that the sum of the three Jltitudes of a triangle is less than the sum of the
three sides of the triangle.
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